
Normalização – Exercício 3 
 
Given the following relation and example data: 
 

PartNumber  Description  Supplier  SupplierAddress  Price  

10010  20 GB Disk  Seagate  Cuppertino, CA  $100  

10010  20 GB Disk  IBM  Armonk, NY  $90  

10220  256 MB RAM card  Kensington  San Mateo, CA  $220  

10220  256 MB RAM card  IBM  Armonk, NY  $290  

10220  256 MB RAM card  Sun Microsystems  Palo Alto, CA  $310  

10440  17" LCD Monitor  IBM  Armonk, NY  $2,100  

 
  
      List the functional dependencies and  
      Normalize this relation into 3NF. 

 

 


